

# Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce.

Near Jogeshwari East Railway Station., Mumbai, Mumbai City, (Maharashtra), Jogeshwari (E) - 400060



#### University of Mumbai Transfer Certificate

PRN: 2019016402386914

Transfer Certificate Code : AFDKAIBKBJAIKBCHFIA

Transfer Certificate Number : 2019290425



CERTIFIED that Shri/ Kumari/ Smt. YADAV AMARNATH KUMAR LALIT has been a student of Govt. of Maharashtras Ismail Yusuf College of Arts, Science and Commerce..

 After Passing the B.Sc. Examination in the year 2021-2022, He has kept terms in the college as under;

- He would have been in the class if He had continued in this college.
- He Passed/ Failed/ ATKT at the T.Y.B.Sc Regular Rev16 Examination held in (March/October)
   2021-2022.
- He has no books belonging to this college in His possession.
- He owe nothing on account of college dues.
- His conduct and character are good.
- His Date of Birth in college register is 28 Jun 2002
- He has attended courses of instruction at this college in Voluntary Subjects or Group of Subjects :-
- He has satisfactorily carried out the practical work in Faculty of Science
- He has satisfactorily gone through the course of Physical Training prescribed by the University. He was exempted from physical training on medical grounds/ on the ground of His being a member of NCC.

He belongs to Category: Open as per record.

Date: (9/10/2021

Forward with compliments to the Principal/Registrar\_ Universit

PRINCIPAL

Principal

Government of Maharashi Feduce of Arts,
Science and Commerces of Arts,
Science & Commerce.

Entered By :-

(JeffeskedrbyCast), Mumbai - 400 060.

Note: Transfer Certificate code given above will be required to admit the student in Digital College® software.

7/11/22 For Shun

Inward No. 455. Date: 18/10/27

The principal File No.: Ismail Yusuf Degree collège Jogeshwan (E), Mymbai 400060.

Sus: Application for transfer certificate

1924113 Th. 18/10/www

18.10 m

spected Madam,

Most humsly and respectfully, I want to state that I have passed my graduation (T. Y. B. Sc) from Ismail Yusuf collège in the year 2022.

And I have applied in Sindhy Swadnyay Santha (university of Mumbai) for my further studies.

I need T.C. (Transfer Certificate) to submit in above mentioned college.

Therefore, I am reduesting you to issue my Transfer Certificate.

Date: 15/10/22

MOS: 9082871176

July 20

Your faithfully Name - Amarnath Kumer Lalit yader previous class: T.Y. Lsc (200 logy) Roll-No: 187 PRN Nº: 2019016402386914





## SINDHU SWADHYAY SANSTHA VIDYANAGARI, KALINA, SANTACRUZ EAST, MUMBAI: 400 098.

#### APPLICATION FOR TRANSFER CERTIFICATE

AT LICATION FOR THE SET CENTER OF THE	
Name: YADAY AMARNATH KUMAR LALI* (Beginning with Surname IN BLOCK LETTERS)	
Address of the Student: 41/13 Railway Staff Colony,	Jogeshwazi (E),
To,	
The Principal,	
Tempal lilions	
Jsmail 4454f Sr. College, Joge - Shuari Edst, 400060	
chi a i colt a	
- 5 now 201, 400060	
Sir/Madam,	
I am to state that I am seeking admission to the M.Sc. Zoology (Part I/II)	in the Sindhu Swadhyay
Sanstha, University of Mumbai. I request you to send my Transfer Certificate	to the Director, Sindhu
Swadhyay Sanstha, University of Mumbai, Vidyanagari, Mumbai - 400 098.	
I have attended the T.Y. R.Sc. class (Roll No. 187) during	g the first & second term
of the academic year 2021-2622 and passed the said examination he	eld by the University of
Mumbai in the month of May	
Mumbai in the month of May.	Yours Faithfully,
	Amp
	(Signature of Student)
Note;- This application for Transfer Certificate must be submitted to the	`
attended by the student along with the necessary T.C fees.	
OFFICE RECORD	
OFFICE RECORD	
Admitted on $25/07/2022$ , fees paid under Challan No. $294952$ (M.Sc. Zoology Part I & #).	registered for
	Director,
S	Sindhu Swadhyay Sanstha

University of Mumbai











## PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI,, MUMBAI-400060

Date: 15-Oct-2022

#### e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUJ9397670
Category	BONAFIED NOC AND T C FEES
FIRST NAME	Amarnath
MIDDLE NAME	Lalit
LAST NAME	Yadav
DATE OF BIRTH	28/6/2002
GENDER	MALE
CATEGORY	GENERAL
MOBILE NO	9082871176
COURSE	B. Sc.
BONAFIED FEES, NOC FEES, T C FEES	100
Fransaction charge	0.00
Total Amount (In Figures)	100.00
Total Amount (In Words)	Rupees One Hundred Only
Remarks	TRANSFER CERTIFICATE
lotification 1	BONAFIED FEES 20, NOC FEES 20, T C FEES 100
Notification 2	PRINT COPY AND SUBMIT TO COLLEGE







Government of India



अमरनाथ कुमार Amamath Kumar जन्म निथि/ DOB: 28/06/2002 पुरुष: / MALE



3585 9233 7668

मेरा आधार, मेरी पहचान



# भारतीय विशिष्ट पहचान प्राधिकरण Unique Identification Authority of India

पता:

आत्मजः लिलित यादव, गाव बलहा पोस्ट तोदेगा बलहा, थाना बिरौल, महमदपुर, दरभंगा, विहार - 848209 Address:

S/O: Lalit Yadav, village balha post naudega balha, thana biraul, Mahamadpur, Darbhanga, Bihar - 848209

3585 9233 7668









help to uidar gov.in



#### ISMAIL YUSUF COLLEGE

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

#### **GRADE CARD**



Student Id 2113579

PROGRAMME	: BACHELOR OF SO	CIENCE						SEMES	TER: I				
PRI	N/Reg. No.	Examination Seat No.	Name of the Learner						Month & Year of Examination				
20190	2019016402386914 103		YADAV AMA	YADAV AMARNATH KUMAR LALIT VEENA DEVI					REGULAR APRIL ATKT 2				
Course	T	C	Course		Grade		Credits Earned	Grade Points	CG=	SGPI=			
Code		Course Title	Credits	TH/PR	IA	OVERALL	(C)	(G)	СхG	ΣCG /			
USFC101	FOUNDATION CO	URSE - I	2.00	O\$	D\$	A+	2.00	9	18.00	11			
USCH101	CHEMISTRY PAPE	ER - I	2.00	A\$	1 1 3 <del>1 2 -</del>	А	2.00	8	16.00				
USCH102	CHEMISTRY PAPE	ER - II	2.00	A\$	7 <del>-</del>	А	2.00	8	16.00				
USCHP1	CHEMISTRY PRAC	CTICAL	2.00	B+\$	<i>[</i>	B+	2.00	7	14.00				
USBO101	BOTANY PAPER -	I	2.00	D\$		D	2.00	4	8.00	7.80			
USBO102	BOTANY PAPER -	II .	. 2.00	0\$	7 g 2	0	2.00	10	20.00				
USBOP1	BOTANY PRACTIC	CAL	2.00	B\$	N. #	В	2.00	6	12.00	25			
USZ0101	ZOOLOGY PAPER	R - I	2.00	A+\$		A+	2.00	9	18.00				
USZ0102	ZOOLOGY PAPER	( - II	2.00	A+\$		A+	2.00	9	18.00				
USZOP1	ZOOLOGY PRACT	TCAL	2.00	Α		А	2.00	8	16.00				
Remarks :	SUCCESSFUL		20.00	E	arned Cred	its : 20.00			ΣCG= 156.00	SGPI: 7.80			
redits Earned =	MESTER I : 20.00 SGPI = 7.	SEMESTER II  80 Credits Earned = SGPI =  SEMESTER VI		MESTER III SGP	I = Credits E	SEMESTER IV	SGPI =	Overall	Grade =	B+			
redits Earned =	SGPI = -	Credits Earned = SGPI =											

Place : Mumbai

Date: 29/04/2021



mythats

Chairperson, Exam. Committee



Somewhol

Principal



### ISMAIL YUSUF COLLEGE



(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

#### **GRADE CARD**

Student Id 2113579

	PRN/Reg. No. Examination Seat No. Name of the Learner									Month & Year of Examination				
Tittly regi rio		YADAV AMA	YADAV AMARNATH KUMAR LALIT VEENA DEVI					REGULAR APRIL ATKT 2021						
Course					Grade		Credits Earned	Grade Points	CG=	SGPI=				
Code		Course Title	Credits	TH/PR	IA	OVERALL	(C)	(G)	СхG	ΣC				
USFC201	FOUNDATION CO	URSE - I	2.00	O\$	D\$	A+	2.00	9	18.00					
USCH201	CHEMISTRY PAPI	ER-I	2.00	A+\$	11	A+	2.00	9	18.00					
USCH202	CHEMISTRY PAPI	ER - II	2.00	A+\$	) <del>- '</del>	A+ ,	2.00	9	18.00					
USCHP2	CHEMISTRY PRA	CTICAL	2.00	<b>A</b> \$	( <del>-</del>	Α	2.00	8	16.00					
USB0201	BOTANY PAPER -	1	2.00	A\$	100 mg	А	2.00	8	16.00	8.4				
USBO202	BOTANY PAPER -	·II	2.00	A+\$	7 x 229	A+	2.00	9	18.00					
USBOP2	BOTANY PRACTIC	CAL	2.00	<b>B</b>	1. V. A	В	2.00	6	12.00					
USZO201	ZOOLOGY PAPER	R - I	2.00	A+\$		A+	2.00	9	18.00					
USZ0202	ZOOLOGY PAPER	R - II	2.00	A+\$		A+	2.00	9	18.00					
USZOP2	ZOOLOGY PRACT	TICAL	2.00	A		А	2.00	8	16.00					
emarks :	SUCCESSFUL	N 10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	20.00	E	arned Cred	lits : 20.00			ΣCG= 168.00	SGP1 8.40				
SI dits Earned =	EMESTER I = 20.00 SGPI = 7	SEMESTER II .80 Credits Earned = 20.00 SGPI = 8	SE 8.40 Credits Earned	MESTER III = SGP	I = Credits	SEMESTER IV Earned =	SGPI =	Overall	l Grade =	Α				
Siedits Earned =	EMESTER V	SEMESTER VI Credits Earned = SGPI =	1	\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\			E 11 00	Julian						

Place: Mumbai

Date: 29/04/2021

Chacked By

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

Chairperson, Exam. Committee

Seal of the College

Sover !ul

Principal

(Refer to grade table at the back)



# ISMAIL YUSUF COLLEGE



Student Id 2113579

(Affiliated to University of Mumbai) JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

#### **GRADE CARD**

OGRAMME	: BACHELOR OF S	CIENCE	8					SEMEST	EK:111	
PRN/Reg. No. Examination Seat No.				Name of the	Month & Year of Examination					
201901	16402386914	20SS 131	YADAV A	MARNATH KUMA	AR LALIT VEENA	DEVI	REGULAR DECEMBER 2020			
			Course		Grade		Credits Earned	Grade Points	CG=	SGPI=
Course Code		Course Title	Credits	TH/PR	IA	OVERALL	(C)	(G)	СхG	ΣC
UAFC301	FOUNDATION CO	DURSE-II	2.00	A .	D	B+	2.00	7	14.00	
USBO301	BOTANY-I		2.00	B+	17-27	B+	2.00	7	14.00	i i
USBO302	BOTANY-II		2.00	В+	4 )	B+	2.00	7	14.00	
USB0303	BOTANY-III	100	2.00	A	1. / -÷	А	2.00	8	16.00	
USBOP3	BOTANY PRACT	ICAL	3.00	A	1452-	Α	3.00	8	24.00	7.60
USZ0301	ZOOLOGY-I		2.00	A+	10 10 10 10 10 10 10 10 10 10 10 10 10 1	A+	2.00	9	18.00	
USZ0302	ZOOLOGY-II		2.00	Survey A Company	W 35/4	А	2.00	8	16.00	
USZ0303	ZOOLOGY-III		2.00	В		В	2.00	6	12.00	
USZOP3	ZOOLOGY PRAC	CTICAL	3.00	А		Α	3.00	8	24.00	
	SUCCESSFUL		20.00	MUSUE TO	Earned Cred	lits : 20.00			ΣCG= 152.00	7.60
SI	EMESTER I	SEMESTER II = Credits Earned = 20.00 SGPI =	= 8.00 Credits Earn	SEMESTER III ned = 20.00 SG	GPI = 7.60 Credits	SEMESTER IV Earned =	SGPI =	Overal	I Grade =	: B+
SEMESTER V  edits Earned = 18.00 SGPI = Credits Earned = 20.00 SGPI = 8.00  SEMESTER V  SEMESTER VI  credits Earned = SGPI = Credits Earned = SGPI =								Julian		

Place: Mumbai Date: 15/02/2021

Seal of the College

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



### ISMAIL YUSUF COLLEGE



Student Id 2113579

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

**GRADE CARD** 

PRN	/Reg. No.	Examination Seat No.			Name of the Le	earner		Mont	h & Year	of Examina	ation
201901	6402386914	20SS 131	YAI	DAV AMAI	RNATH KUMAR	LALIT VEENA	DEVI	R	1		
Course				Course	Contraction of Spirit	Grade		Credits Earned	Grade Points	CG=	SGPI= ΣCG /
Code		Course Title	c	redits	TH/PR	(IA	OVERALL	(C)	(G)	CxG	ΣC
UAFC401	FOUNDATION CO	URSE - II	1	2.00	A	Α	А	2.00	8	16.00	
USBO401	BOTANY-I			2.00	В	10.7 ( <b></b>	В	2.00	6	12.00	
USBO402	BOTANY-II			2.00	A+	13.27-	0	2.00	10	20.00	
USBO403	BOTANY-III		1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1	2.00	0	V	0	2.00	10	20.00	
USBOP4	BOTANY PRACTIC	CAL	14	3.00	0	#	0	3.00	10	30.00	9.1
USZO401	ZOOLOGY-I			2.00	O		0	2.00	10	20.00	
USZO402	ZOOLOGY-II			2.00	) (   <b>A</b> +		A+	2.00	9	18.00	
USZO403	ZO.OLOGY-III			2.00	A		А	2.00	8	16.00	
USZOP4	ZOOLOGY PRACT	TICAL	500	3.00	0		0	3.00	10	30.00	
emarks :	SUCCESSFUL		The second secon	20.00		arned Cred	lits : 20.00			ΣCG= 182.00	9.10
SE edits Earned =	MESTER I	SEMESTER II Credits Earned = 16.00	SGPI = Cred	SEN its Earned =	MESTER III = 20.00 SGPI	= 7.60 Credits	SEMESTER IV Earned = 20.00	SGPI = 9.10	Overal	I Grade =	: A+

The state of the s

Credits Earned = ---

SEMESTER V

SGPI = ---

Place : Mumbai Date : 29/04/2021 ngiry

Credits Earned = ---

SEMESTER VI

SGPI = ---

Chairperson, Exam. Committee



Souther Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



# University of Mumbai GRADE CARD

CCF:86:0099

Name

: YADAV AMARNATH KUMAR LALIT VEENA DEVI

Examination

: BSC.(SEM V) (CBCGS)

Held In

: NOVEMBER 2021

Seat Number

: 3046637 (PRN:2019016402386914)

Course Code	Course Title		Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
	ZOOLOGY				Secondary 1				
USZO501	TAXONOMY - INVERTEBRATES AND TYPE STUDY	TH	100	40	56	2.5	B÷	7	17.50
USZO502	HAEMATOLOGY AND IMMUNOLOGY	TH	100	40	60	2.5	Α	8	20.00
USZOP05	PRACTICAL OF USZO501 TO USZO502	PR	100	40	86	3	0	10	30.00
USZO503	HISTOLOGY,TOXICOLOGY,PATHOLOGY &BIOSTATISTICS	TH	100	40	62	2.5	A	8	20.00
USZO504	ANATOMY AND DEVELOPMENTAL BIOLOGY	TH	100	40	72	2.5	A+	9	22.50
USZOP06	PRACTICAL OF USZO503 TO USZO504	PR	100	40	87	3	0	10	30.00
	MARINE SCIENCE			MARINE STATE	- 125 (5) - 125 (5)				
USACMSC501	OCEANOGRAPHY AND CAPTURE FISHERIES	TH	100	40	74	2	A+	9	18.00
USACMSC5P1	PRACTICAL OF USACMSC501	PR	100_	40	86	2	0	10	20.00
	GRAND TOTAL	SERVICE SERVICES	800	ALMORPHUM DE COMPANION DE COMPA	583	20			178.0

Remark: SUCCESSFUL

SGPI: 8.90

Result Declared On: JANUARY 28, 2022

DIRECTOR BOARD OF EXAMINATIONS AND EVALUATION

P.T.O.



# University of Alumbai **GRADE CARD**

CCF:0086:0072

Name

: YADAV AMARNATH KUMAR LALIT VEENA DEVI

Examination

: BSC.(SEM VI) (CBCGS)

Held In

: APRIL 2022

Seat Number : 2059032 (PRN:2019016402386914)

Course Code	Course Title		Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
	ZOOLOGY							olenson person transperson	1, 10, 44, 1
USZO601	TAXONOMY - CHORDATES AND TYPE STUDY	TH	100	40	90	2.5	0	10	25.00
USZO602	PHYSIOLOGY AND TISSUE CULTURE	TH	100	40	76	2.5	A+	9	22.50
USZOP07	PRACTICAL OF USZO601 TO USZO602	PR	100	40	93	3	0	.10	30.00
USZO603	GENETIC AND BIOINFORMATICS	THOMESON	100	40	88	2.5	0	10	25.00
USZO604	ENVIRONMENTAL BIOLOGY AND ZOOPHARMACOGNOSY	THOUSE THE STATE OF THE STATE O	100	40 Activation of	72	2.5	A+	9	22.50
USZOP08	PRACTICAL OF USZO603 TO USZO604	PR	100	40	93	3	0	10	30.00
	MARINE SCIENCE	Company of the Compan		me inne filologia mennete filologia mennete filologia mennete filologia mennete filologia					
USACMSC601	PRODUCTION AND MANAGEMENT	TH	100	40	54	2	В	6	12.00
USACMSC6P1	PRACTICAL OF USACMSC601	PR	100	40	88	2	0	10	20.00
	GRAND TOTAL		800	Barrell Fre	654	20		70	187.00

Sem. I CRED.: 20 SGPI: 7.80 Sem. IV CRED.: 20 SGPI: 9.10

Sem. II CRED.: 20 SGPI: 8.00 Sem. V CRED.: 20 SGPI: 8.90

Sem. III CRED.: 20 SGPI: 7.60 Sem. VI CRED.: 20 SGPI: 9.35

Remark: SUCCESSFUL

CGPI: 8.46

Result Declared On: JUNE 10, 2022

DIRECTOR

BOARD OF EXAMINATIONS AND EVALUATION



	UNIVERSITY CULTURAL	30	
	E CHARGES	20	
	E SUVIDHA	50	
	ALUMNI ASSOCIATION	25	
	DISASTER RELIEF FUND	10	
•	LABORATORY FEES	800	
	Transaction charge	0.00	
	Total Amount (In Figures)	3,575.00	
	Total Amount (In Words)	Rupees Three Thousand Five Hundred Seventy Five	Only
	Remarks	TY BSC ADM FEES	
222	Notification 1	RS 20 ON A POLICY OF RS 50000	
	Notification 2		







#### PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-400060

Date: 26-Jun-2021

#### e-Receipt for State Bank Collect Payment

SBCollect Reference Number	DUF0507810
Category	T.Y.B.SC. ADMISSION FEES(OPEN CATEGORY)
FIRST NAME	AMARNATH
MIDDLE NAME	LALIT
LAST NAME	YADAV
MOBILE NO	9082871176
DATE OF BIRTH	28/06/2002
GENDER	MALE
CATEGORY	OPEN
COURSE	TY BSC
ADMISSION FORM NO	5
PRN NO.	2019016402386914
TUITION FEES	800
LIBRARY FEES	200
GYMKHANA FEES	200
OTHER FEES	250
ADMISSION PROCESSING FEES	200
UTILITY FEES	250
MAGAZINE FEES	100
IDENTITY CARD	50
GROUP INSURANCE	20
STUDENTS WELFARE FUND	50
DEVELOPMENT FUND	500
VICE CHANCELLOR FUND	20